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Correct Answer: ABCD

Explanation:
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Explanation:
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Correct Answer: ABCD
Explanation:

Pattemn 1 Pattern 2 Pattern 3

There are 4 tiles in pattern 1. How
many tiles would be in pattern 4 7 ARl e

" 14 . "

Correct Answer: ABCD
Explanation:

Patten 1

What is the number of Pattern 3
the pattern you can
make with 40 tiles ?
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Correct Answer: ABCD
Explanation:

When 2y+11=17 A ...
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Correct Answer: ABCD

Explanation:
When a=2 and b=3

which of these expressions
have the same value?

¢" aband3a: +% aband3b:
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Correct Answer: ABCD
Explanation:

pattem pattern
number number

Correct Answer: ABCD
Explanation:

pattern pattern
number number

How many triangles would there "N ...
be in pattern 10 ?

\ i 32 o [ U

This quiz was created on www.diagnosticquestions.com. 3



Which of these equations is true ?

% k=a+b' e% k—-c=a+b*

¢ a+b=K+c

These two
shapes have
the same
AREA. Work
out the value
of y ?

The rule for finding the number
of hexagons is ..........
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5 matchsticks

3 matchsticks 7 matchsticks

What is the nth term rule for working out
the total number of matchsticks?
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